2 DETAIL A @
SCALE1: 3

|
—j 8
DETAIL F
SCALE1:3 DETAIL B
SCALE1:3
DETAIL E
SCALE1:3

1,
= o
9 & o
- |
DETAIL D DETAIL C
SCALE1:3 SCALE1:3
-]
o oa e S = B < & o
11 . ) a b ¢ 2
P o \ o ) | DN ONS ARE IN INCHES NAME | DATE TICO/TERMINAL SERVICE
~Es DRAWN SMB 5/20/15 66 CYPRESS RIDGE DR.
DM s o6 HE@ W RIDGELAND, SC 29936
XXX + 0.08 CHECKED (843) 717-2226
XXXX £ 0.005 APPROVED TITLE:
ANGULAR: +05°
FRACTIONAL + 1/32" DO NOT SCALE DRAWING LIG HTS AN D M OUNT'NG
INTERPRET GEOMETRIC TOLERANCING | THE SUBJECT MATTER SHOWN AND
PER: ASME 14.5M-1994 DESCRIBED IN THIS DRAWING AND ANY
MATERIAL CONNECTION THERBWITH, 5+
PROPRIETARY PROPERTY AND IS TO BE SIZE |DWG. NO. REV
HELD IN STRICT CONFIDENCE BY YOU. -
FINISH ALL RIGHTS TO ANY INVENTIONS, ‘ 71895-C1
DESIGNS, TRADE MARKS, TRADE
NAMES AND COPYRIGHTS DISCLOSED
THICKNESS ARE RESERVED TO TICO TERMINAL
SERVICES, INC. SCALE: 1Z5qWE|GHT: SHEET 1 OF 1

8 7 6 5 4 3 2 1



TICO PRO-SPOTTER

S/N: ILIGHTS AND MOUNTING - INCANDESCENT LIGHTS I 71895
ITEM PART # QTY/M DESCRIPTION TASK
71895-C1 REF  |LIGHTS & MOUNTINGS
91261 1 STROBE LIGHT ASS'Y, LED, GROTE
1 91187 1 STROBE, AMBER, 12V GROTE LED
2 80209 3 LOCKNUT, #10-32
3 80196 6 SCREW, P H, 10-32 X 1" LG
4 40157-1 2 LIGHT ASSEMBLY, AMBER, 2 1/2"
5 40157-4 2 GROMMET, LIGHT 2 1/2"
6 40156-1 2 LIGHT ASSEMBLY, RED, TAIL, ROUND
7 40156-2 2 GROMMIET, LIGHT, 4"
8 62060 LIGHT, WORK
40027 WORK LIGHT, INCANDESCENT
9 90781-1 1 ASSEMBLY, LH HEAD LAMP
10 90781-2 1 ASSEMBLY, RH HEAD LAMP
90781-3 REF LAMP, HEADLIGHT
90781-4 REF LAMP, TURN
11 90779 1 BRACKET, HEAD LIGHT, RIGHT
12 90780 1 BRACKET, HEAD LIGHT, LEFT
13 90019 1 DOME LIGHT
14 82371 6 BOLT, HEX, 5/16-18 X 1 1/4" LG
15 85090 12 WASHER, 5/16
16 85024 6 NUT, NYLOCK, 5/16-18
17 90893 6 CONNECTOR WEATHER PACK, 2 PRONG
REV DATE BY SHEET
10F1

TICO MANUFACTURING - RIDGELAND, SC 29936




	71895-C1
	71895-C1
	Sheet1


